Tableaux des Puissances de Dix (F)

Multipliez le nombre de la rangée par celui de la colonne.
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Tableaux des Puissances de Dix (F) Solutions

Multipliez le nombre de la rangée par celui de la colonne.

X 0,009 90 0,0009 0,09
2 0,018 180 0,0018 0,18
16 0,144 1440 0,0144 1,44
58 0,522 5220 0,0522 5,22
63 0,612 6120 0,0612 6,12
56 0,504 5040 0,0504 5,04
X 0,006 0,0006 0,06 0,6
91 0,546 0,0546 5,46 54,6
60 0,36 0,036 3,6 36

24 0,144 0,0144 1,44 14,4
38 0,228 0,0228 2,28 22,8
5 0,03 0,003 0,3 3

X 0,0009 90 9000 0,09
82 0,0738 7 380 738 000 7,38
96 0,0864 8 640 864 000 8,64
36 0,0324 3 240 324 000 3,24
34 0,0306 3 060 306 000 3,06
16 0,0144 1440 144 000 1,44
X 0,8 8 000 80 000 0,08
26 20,8 208 000 2080000 2,08
78 62,4 624 000 6 240 000 6,24
7 5,6 56 000 560 000 0,56
98 78,4 784 000 7 840 000 7,84
46 36,8 368 000 3680000 3,68
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